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Note:- You have four choices for each objective
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fill that cjrcle in front of that question number. {
will result in zero mark in that question. Write PAPER COD

sides of the Answer Sheet and fill bubbles accordingly,
Use of ink remover or white correcting fluid is not allowed
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type question as A, B, G and D. The choice which you think is correct;
Use marker or

to fill the circles. Cutting or filling two or more circles

, which is printed on this question paper, on the both
otherwise the student will be responsibie for the situation.

(D) (C) (B) A) "QUESTIONS ad
0 ‘s 3w P TR T A1
-Social Scientific Ethical Natural | ; - —_—
Sclence knowledge | Knowledge Science According to Alfr_eq Marshall, Economlcs is

ST TR RSN ST VYIRS R K
Applied Nature and=4l | Principles of Wealth of | The name of Book written by Professor
Economics s _ '?.f:,’,‘:fgsc’f Economics Nations * | Robbins is '
o1 P sl et oslih 45 ot Jzt et i Poe &S S| 3
Negative utility | Positive utility | Total utility | Initial utility |utiity derived from the first unit of a Good s called. ‘
eers | 4 JuHL g F bt} [The B LELpgen L s |4
|Rate of Retum|  Elasticity. | Maiginal Rate Exchange Exchange Rate between two goods is called
Supply 4 Price =.f | Speed .U |Demand % |Continuous variable is ' -q; 28 s
Y-c V| s 28l plt (j{'}l"’ ol J;},?;/)l obt | S el tnsnr ¥ Lﬂ’/‘»g_ z JJ p-3 u’r 6
Will and stock | Will and need | - ng 7o gg&earnt% : Iwo C%"gfm i n;ce selorte
] : o esire purchase eman a commo ity.
oot | suiedet | daedet T feed . eaderlos] 7
Decreasein | Incréasein | Decreasein |'Decreasein The cause of Rise in demand is
Population Income Income Price ! . . v
Horizontal 1 | Vertical U;f | Negative (¢ Positive /= | The slope of supply curve is ¢tz Eauis| 8
L{J.f"u; | detdat Sk K S e Fli| o
Change in Changein | oiher Factors | Cha he cause of Shifting of Supply Curve is
“demand Income . P S . :

u.é’!{ e d’ , = N = Z’-.Mru;_lvﬂ’uyz‘g by u}:@/’l] ¥si! 10
Infinite Equal Negative Pgs The market is in Equilibrium, where Demand

' ‘ . ' and Supply are : _ ‘ :
Kty Kot 99y 4 . il 1

State Economy | Business s {The Land isDa free gift of ?
e | ks A ¢ ' "= e Ardi] 12
‘Roads | Personal Car | Fgrsonal | perishal Lahd pNational Capitalis  * = ‘

S5 | Se i ._m;,féu)! v | Sefuds | e (b e PuiE | 13
: : 3 : ;
,nt,ae"éggg delé?r;la\gﬁf\g Law of lnwa:igfg Other name of Law of decreasing Retumn is

Cost ~ cost Constant Cost Return ’ ‘

LA &AM Lbsezmasts| L FAsH | The law of variable Y BeeSuiv [14
" Keynes Robbins | W.J. Ryan .M/;lgﬁgll proportions was presented by .
a 0t 2 ey [ ¢ ool it S| 15
Negative Limited Zero Unlimited Short Run, Production Capacity of the firm is
Wt Z & ot - dn PAIBL g ot S dar | 16
Dish shaped | U Shaped Horizontal Vertical In long Run, The Shape of Cost curves is _

Co | dmp dr bl Sres s Pdln e & Sas 100G S| 17

Profit Marginal Qverage RT°13' The amount Received by Selling < (i

‘Revenue i evenue_ of an additional unit of outpqt is called
J 8 » okl ' il (}k)’ﬁ J UrA Yrresel] 48

Four Three Two One ¢ |Under Monopoly, t_he number of firms .is/are

Lt Ll & LJAsH | Liquidity VB FCEBs | 19
J.M. Keynes | Adam Smith Robbins ,MAa}g?gll Preference Theory was presented by
e e w o2l |Thereward g bk sk S2T 20
Cost _ Profit Interest Wage received by Entrepreneur is called
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Answer briefly any Eight parts from the followings:- 8x2=16 -q&f.:,uz/"?étm #T7 c_ch_ ‘A‘b@ﬂ -2
What is the difference between Science and Art?%c. g/ l[u-f Sl H‘ (ii) Define an economic problem.-u:/ ..g//‘U,k’/u’ b (D)

What is meant by Micro economics? Sy L[ e JLZ (iii)
What is meant by Scientific laws? Sesly gfc o l}Jib (iv)
What is meant by Marginal utility. Sesly Y 0l f‘?'(vi) What is meant by total utility?%¢ 51 Ve uGlJ{ (v)
What is meant by consumer equilibrium? Sestpl e I ke (vii)
What is meant by increasing function. ‘ Seslp ([a Ji di‘{ (viii)
What is meant by law of demand? e slp Ve AydE (ix)
What is meant by substitution effect. ‘ | -y Ve 2331 (x)
,What is meant by arc elasticity? , : el e Sy (xi)
What is meant by Income elasticity? S sl Ve J dn (xii)
Answer briefly any Eight parts from the followings:- 8x2-16 -J/ny[,lf/"zlﬂ #7 aéf;di‘f} G -3
What is meant by supply. ' -<oly Lf <-4 (i) What is meant by Fall in Supply. « !/ L_/a. t/ K (i)
What is meant by Extension of Supply ' : el e WAL s (iii)
Wnte two assumptlons of Law of Supply: .__ufiow:/a’»ér/uiﬁ' (iv)
What is meant by Market Equilibrium. ce Ve YIS (v)
Write the names of the factors of productlon » : -u.."‘irté Jj!,g. uﬁ‘-"b (vi)
What is meant by Capltal Formation. < sl g el /J‘@ (viii) - Wnte the concept of capital. _u:.’ﬁ,'x“ Kl . (vii)
Write two determinants of Scale of Production. -u:."vllui u’i,g.,,g. (x).  Write two functions of organisation. u"Ju'jl/»L(E (ix)
V\{rite two disadvantages of Large Scale of Production. | u“’LbLeﬂ»L J'ngw A (xi)
'+ Define the Law of Constant Returns. u‘JJ/'J S deu/l? (i)
Answer briefly any Nine partslro}n the fdllowings:- 9x2=18 -q_’)}f.-‘.yuz/”[_w I e ALits 4
Define supplementary cost. & fSwd” () Whatis meant by short run? fe- s U JEar (i)
What is meant by marginal revenue? % »l, Ve U f"f '(iv) . Define Average cost. -i - /“"J It Lot (i)
Write two prdpertlgs of monopoly " ] o i .‘é ..,Lay"» J ) uw (v)
) Why averaga revenue curve ls horizontal in pertbc‘f competmon? ; ‘ et U d/lr‘b £ e L/;fJLJbAJ’ (\n)
: What is meant by day to day market. ' . ‘ ‘ Seslrl Ve dy.»:’ (vii)
Define rent. -2 37600 X)  Define market &y PSS (i)
Define interest. -’e’.f._y/"’(f s (xi) What is meant by minimum wage? ¢ sl Ve J’.’ =2 (x)
Define transaction demand for money. : ® _2.;‘_’,: - j"J JJ ai&bn/iy J;J (xif)
Differentiate between Net and gross profit. ’ AN ) C”l'/;.f/ul e (xiii)
~ Part ' n (o ’ -
Note: Attempt any three questions. 10x3=30 -q)};’.;ueié etvrfe df o
5. Explain the merits and demerits of Robbins's definition JFUb sl U S Pl e Sl § 7 25
of Economics. ‘ -u_’/ Y
6. . Explain the Factors, which effect the Elastioity of demand. -q_‘/ =olos J Sty S }"l‘«’-f...‘g . 61
7. Wirite the factors affecting the efficiency of capital. & _//U’Ifé_u &Sl Sy il
8. Explain Law of increasing returns with the:help of a table f;\nd diagram. ,23:: =gy J rifl Lastost oo J Y ["'ﬁ-}]ﬁ' -8
9. What is meant by rent? Describe its various kinds. ' 2k (L A el b -9
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